
10.12 1) x2 − x x+ 1
−x2 − x x− 2

− 2x
2x + 2

2

x2 − x = (x+ 1) (x− 2) + 2 implique
x2 − x

x+ 1
= x− 2 +

2

x+ 1∫
x2 − x

x+ 1
dx =

∫ (
x− 2 +

2

x+ 1

)
dx =

∫
(x− 2) dx+

∫
2

x+ 1
dx

=

∫
(x−2) dx+2

∫
1

x+ 1
dx = 1

2
x2−2x+2 ln

(
|x+1|

)
+c

2) 6x2 − 4x + 2 3x+ 4
−6x2 − 8x 2x− 4

− 12x + 2
12x + 16

18

De 6x2 − 4x+ 2 = (3x+ 4) (2x− 4) + 18 on tire que
6x2 − 4x+ 2

3x+ 4
= 2x− 4 +

18

3x+ 4∫
6x2 − 4x+ 2

3x+ 4
dx =

∫ (
2x−4+ 18

3x+ 4

)
dx =

∫
(2x−4) dx+

∫
18

3x+ 4
dx

=

∫
(2x− 4) dx+ 6

∫
1

3x+ 4
· 3 dx

= x2 − 4x+ 6 ln
(
|3x+ 4|

)
+ c

3) x2 + 2 x + 1 x− 1
−x2 + x x+ 3

3x + 1
− 3x + 3

4

(x+ 1)2 = x2 + 2x+ 1 = (x− 1) (x+ 3) + 4 fournit
(x+ 1)2

x− 1
= x+ 3 +

4

x− 1∫
(x+ 1)2

x− 1
dx =

∫ (
x+ 3 +

4

x− 1

)
dx =

∫
(x+ 3) dx+

∫
4

x− 1
dx

=

∫
(x+3) dx+4

∫
1

x− 1
dx = 1

2
x2+3x+4 ln

(
|x−1|

)
+c
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4) x3 − 9x x2 − 1
−x3 + x x

− 8x

x (x2− 9) = x3− 9x = (x2− 1)x− 8x donne
x (x2 − 9)

x2 − 1
= x− 8x

x2 − 1∫
x (x2 − 9)

x2 − 1
dx =

∫ (
x− 8x

x2 − 1

)
dx =

∫
x dx−

∫
8x

x2 − 1
dx

=

∫
x dx−4

∫
1

x2 − 1
·2x dx = 1

2
x2−4 ln

(
|x2−1|

)
+ c
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